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SECTION A {40 MARKS)

1 One basic technique used to determine after-tax operating cash fiows Is to

BN -

add noncash charges to net income

subtract depreciation from operating revenues
add cash expenses to net income

subtract cash expenses from noncash charges

2 Benefits expected from proposed capital expenditure must be on an after-tax basis
because

AW N =

taxes are cash outflows

no benefits may be used by the firm until tax claims are satisfied
there may also be tax benefits to be evaluated

It 18 common, accepted practice to do so

3 If an iInvestment project has a positive net present value, then the intermal rate of return

1S

AWM =

less than the cost of capital

greater than the cost of capitat

equal to the cost of capital

indeterminate, it depends on the length of the project

4 For acceptable investments, the reinvestment assumption under the internal rate of
return 1s generally

W N =

higher than under the net present value method
lower than the net present value

at the cost of capital

below the cost of capital

5 Throb-Hearts Pnvate Limited 1s considering the replacement of an old machine with
one that has a purchase price of R70 000 The current market value of the old machine
1Is R25 000 and the book value is R32 000 The firm’s tax rate for ordinary income 1s
28% The net cash outflow for the new machine after considenng the sale of the old
machine Is

BWON =

R38 000
R43 040
R45 000
R49 100
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& The Tenderpreneur Corporation has the following investment opportunities

Year Machine A Machine B Machine C
0 -R 15 000 -R 22 500 -R37 500
1 6 000 12 000 -
2 9 000 12 000 30 000
3 3000 10 500 30 000
4 - 10 500 15 000

Using the payback method and assuming these machines are mutually exclusive,
which machine(s) would Tenderpreneur Corporation choose?

1 Machine A
2 Machine B
3 Machine C
4 Machine A and B

N

The Red Ants CC runs an investment project that will reduce expenses by R15 000

per year over the next 3 years The project will cost R20 000 The asset is depreciated
at 33% n the first year, and the company’s tax rate 1s 28% The cash flow in year 1

equals

1 R 6800
2 R 5100
3 R11667
4 R12648

Project A has a R5 000 net present value at a zero discount rate and an intemal rate of

return of 12% Project B has a R8 000 net present value at a zero percent discount
rate and an IRR of 10% If the projects are mutually exclusive, which one should be
chosen given that the cost of capital 1s 6%7?

£ WN =

Not enough information

HBWN -

A correlation coefficient of zero indicates that

the projects have the same expected value
there 1s no correlation and no rnisk reduction when the projects are combined

there 1s no correlation, but some nisk reduction when the projects are combined
the projects have the same standard deviation

Project A, because It has a higher intemal rate of return
Project B if the cross over point 1s above the cost of capitat
Both projects if the net present value s positive
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10  Which investment has the least amount of nsk?

Standard deviation =R500, expected return = R5 000
Standard deviation =R700, expected return=R 500
Standard deviation =R800, expected return = R 800
Standard deviation =R400, expected return=R 350

A WO =

11 When evaluating portfolio risk, the investor

needs to consider the impact of a given project on the overall risk of the firm
recognises that a nsky investment may create a portfolio with less nsk

needs to consider how the returns of the projects in the portfolio are correlated
all of the above

BN -

12 Le Botho CC s considering investment in a project about which its analysts have
projected the following outcomes and their probabilities

Probability of
Outcome outcome Assumptions
R 5250 25% pessimistic
moderately
7 800 45% successful
13 500 30% optimistic

The expected value of the outcomes 1s closest to

R3 123
R8 460
R8 873
RS 126

AW N =

13 A project has a coefficient of vanation of 0 4, a positive correlation of 0 20 and its
expected value 1s R2 000 The standard deviation is closest to

1 R 400
2 R 500
3 R 800
4 R1000
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The following information refers to questions 14 and 15:

A blue chip company must choose from six capital budgeting proposals outlined below
in table A The firm 1s subject to capital rationing and has a capital budget of
R1 000 000, the firm's cost of capital is 15%

Table A

Project Initial

investment IRR NPV

1 R200 000 19% R100 GO0
2 400 000 17 20 000
3 250 000 16 60 000
4 200 000 12 -5 000
5 150 000 20 50 000
6 400 000 15 150 000

14 Using the internal rate of return approach to ranking projects, which projects shoutd
the firm accept?

. 2,

, 3, 4and B
., 2,3 4and5
, 3, 4and 8

15 Using the net present value approach to ranking projects which projects should the
firm accept?

3 4and s

2, 3,5and8
, 3, band 6

2,3, 4and 5

B WN =

The following information refers to questions 16, 17, 18, 19 and 20:

Zimiili Importers a KwaZulu-Natal-based import company Is evaluating two mutually
exclusive projects A and B The relevant cash flows for each project are given In table C

below The cost of capital for use in evaluating each of these equally nsky projects I1s
10%

Table C

Year Project A Project B
0 (R450 000) (R350 000)
1 150 000 175 000
2 135 000 150 000
3 170 000 125 000
4 50 000 -

5 75 000 -

6 50 000 -
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16 The NPVs of projects A and B are equal to

-R 34600 and -R 26 972 respectively
R934 600 and R726 972 respectively
R 34600 and R 26 972 respecively
R189 480 and -R 48 027 respectively

W -

17 The annualised NPV of project A 1s closest to

R6 459
R7 643
R7 945
R8 549

B WN -

18 The annualized NPV of project B Is

1 R 9948
2 R10849
3 R11673
4 R12227

19 Which project should be chosen on the basis of the normal NPV approach?

Project A
Project B
neither
both

BWN

20 Which project should be chosen using the annualised NPV approach?

1 ProjectA
2 ProjectB
3 nerther
4 both

The following information refers to questions 21, 22, 23 and 24:

The Starback Company’s optimal capital structure calls for 30% debt and 70% equity The
Interest rate on its debt 1s a constant 12%, its cost of ordinary shares funding from retained
earnings is 15%, and its marginal tax rate 1s 28% Starback has the following opportunities

Project A cost=R70000, IRR= 16 5%
Project B cost = R70 000, IRR= 152%
Project C cost=R40000, IRR= 12 4%
Project D cost=R60000,IRR= 101%

Starback has R120 000 in available eamings
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The weighted average cost of capital for Starback Company Is equal to

1 91%
2 1M12%
3 131%
4 16 8%

Which of the following projects must Starback Company choose based on its WACC
and available retained earnings?

Projects Aand C
Projects C and D
Projects Aand D
Projects A and B

A WN =

If Starback Company follows a residual policy of dividends 1t wili pay in dividends

1 RO

2 R 42000
3 R 80000
4 R140 000

If Starback follows a residual theory of dividends its retention ratio will be equal to

33%
41%
53%
82%

BN —

Naspers Ltd has to make an unavoidable capital investment of R1 000 000 this year
The firm’s dividend policy requires that it pays 55% of its earnings attributable to
ordinary shareholders (amounting to R800 000 this year) i the form of dividends If
Naspers maintains an optimal debt ratio of 40% which one of the following shows the
correct weight of each form of financing in the calculation of the weighted average cost
of capital (WACC)?

1 40% debt 36% retained earnings 24% new ordinary shares
2 40% debt 60% retained earnings

3 60% debt 32% retained earnings 8% new ordinary shares
4 30% debt and 70% equity

A company plans to increase its earnings from R1 200 000 to R1 500 000 next year In
response to an increase in EBIT from R1 701 684085 to R2 124 176 06 The
company’s financial leverage 1s closest to

100
125
235
410

P WA =
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27  As the volume of financing increases the costs of the vanous types of financing
will the firm's weighted average cost of capitai

1 Increase lowenng
2 Increase raising

3 decrease lowering
4 decrease raising

28 The cost of capital 1s the rate of return a firm must earn on its investments 1n projects n
order to maintain market value of its

shares
debts

fixed assets
total assets

PWON =

29 The most commonly held view of capital structure according to the text is that the
weighted average cost of capital

1 first falls with moderate levels of leverage and then increases
2 decreases proportionately with decrease in leverage

3 does not change with increase In leverage

4 decreases indefinitely with increase in leverage

30 A firm uses financial leverage In order to

maximise dividend payout
maximise the wealth of the owners
keep in line with iIndustry standards
raise more funds

BWN =

The following information refers to questions 31, 32, 33, 34 and 35:

Madiba Ltd has made the forecast of sales shown in the following table as well as
associated probability of sales

Sales Probability
R200 000 020

300 000 060

400 000 020

The company has fixed operating costs of R75 000 and vanable operating costs equal
to 70% of the sales level It pays R12 000 interest per period The tax rate 1s 28% The
company issued 10 000 ordinary shares
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31 The earnings before interest and taxes (EBIT) for each level of sales are equal to

R56 000, R72 000, R93 000

R85 000, R165 000, R245 000
R89 000, R190 000, R255 000
R93 000, R200 000, R275 000

A WN -

32 The earnings per share (EPS) for each level of sales are equal to

1 3151, 9012, 14130
2 4621,10120,15978
3 5256,11016,16 776
4 6112,12014,17 212

33 The expected earnings per share E(EPS) share for each level of sales are equal to

1 9012
2 11017
3 12014
4 17212

34 The standard deviation of the earnings per share is closest to

1 3641
2 4654
3 5321
4 6254

35 The coeffictent of vanation of the eaming per share is ciosest to

1 0850
2 0130
3 0230
4 0330

36 The problem with reguiar dividend policy from the business perspective Is that

1 1t bores the shareholders

2 ifthe business earnings drop so does the dividend payment

3 even when earnings are low the company must pay a fixed dividend
4 1tincreases the shareholders’ uncertainty

37 The repurchase of shares  the earnings per share and  the market price of shares

INcreases, INcreases
decreases, decreases
Increases, decreases
decrease, Increases

BWN =
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38 The type of lease in which the lessor acquires or purchases the asset in order to lease
it to a given lessee 1s known as

1 afinancial lease

2 adirect lease

3 an operating lease
4 aleveraged lease

39 The ability to use the sales and distnbution channels to reach customers of both
businesses s a benefit of

congeneric merger
conglomerate merger
honzontal merger
vertical merger

N =

40 A combination of companies where the former company ceases to exist Is a

congenenc formation .
consolidation /
merger '
holding company

BWN -
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SECTIONB (30 Marks)
QUESTION 1 (12}

The Mzansi Music Company (MMC}) 1s using a recording system that oniginally cost R88 000
The system 1s being depreciated on the straight line method over 8 years The system has a

remaining life span of 3 years, a book value of R33 000 and a current market value of
R37 000

Tshepo de Jager the Financial Director of MMC 1s considering replacing the recording system
with a newer system costing R110 000 The new system will generate R20 000 in earmnings

before interest and tax (EBIT) each year The new recording system will be depreciated on
the straight line method over 3 years

MMC 1s in the 28% tax bracket and has a 10% cost of capital
REQUIRED

1 1Calculate the initial Investment needed for the new recording system (4)
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12 Calculate the estimated net cash inflow for years 1, 2 and 3 (4)

13  State whether according to the net present value (NPV) and internal rate of return
(IRR) decision critena (4)

Note: Please show all calculations

[TURN OVER]
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QUESTION 2 (18 Marks)

Europcar, a South African leading car rental company 1s attempting to determine whether to
purchase or lease a fleet of Toyota Yans for the rental purpose The company i1s in the 28%
tax bracket and its after-tax cost of debt 1s currently 7%

Lease contract

Lease the fleet of Toyota Yans for 3 years at a lease rental of R295 000 payable at the end of
each year All maintenance costs will be paid by the lessor Insurance and other costs will be
borne by the lessee

Purchase option

Purchase the fleet of Toyota Yans for R900 000 and financed it entirely with an 11% loan
requinng annual end-of-year payment of R368 249 for three years The fleet will be
depreciation by R300 000 each year The company will pay R5000 per year for a service
contract that covers all maintenance costs Insurance and other costs will be borne by
Europcar

REQUIRED

21 Prepare a loan amortisation schedule of Europcar by completing the following table (5)

Year Loan payment |Interest@ 11% | Repayment of | Balance
capital

1

2

3

[TURN OVER]
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22  Calculate the after-tax cash outflow of the lease contract by completing the following
table (6)
Year Lease . After-tax o PV of cash
Payment Tax saving cash outflow PVIF@7% flow
1
2
3
33 Calculate the after-tax cash outflow the borrow-and —buy option by completing the
following table (6)
PV of
Year Loan Maintenance | Interest | Depreciation Tota! PVLF@ cash
payment deduction 7% flow

[TURN OVER]
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24 Which aiternative lease or purchase would you recommend? Justify your answer (1)

©
UNISA 2011
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APPENDIX A ROUGH WORK
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Future-Value Interest Factors for R1 compounded at k percent for n Pertods

FV[FRHZ(]-{-]()"

Perrod | 1% 2% 3% 4% 5% 6% 7% % 9% 1% | 1% 12% | 13% | 14% | 15% 6% 20% 25% | 30% 5%
1 1010|1920 [1030 1040 [1050 [1060 [1070 [1080 |1080 1400 [syn@ 1120 [1130 3140 1150 [1180 |1200 1250 |[1300 }1350
2 1020 |1040 1081 |1082 11103 li124 |1145 [1166 J1188 |1200 1232 |1254 1277 1300 |1323 |1346 |1440 }1553 [1680 [1823
3 1030 |1061 [1003 1125 {1158 (1191 [1225 [1260 [1295 1331 [4368 1405 [1443 {1482 |1521 [1561 |1728 31953 [2197 |2460
4 1041 |1082 1136 |1170 {1215 1262 |1311 [1360 1412 |1454 1518 |1574 |1630 4689 hi749 |18v1 |2074 (2443 [2856 [332
] 1051|1104 |1359 |12¢7 (1278 1338 |1403 L1469 11530 |161% |1685 |1762 1842 |i925 12011 )2100 |24B8 |3052 3713 [4484
§ 1062 |1126 1194 |1265 |1340 1419|1503 F1587 1677 |1772 |1870 |1974 (2082 2195 |23 2436 [2986 3815 4827 [6053
7 1072|1149 [1230 (1316 J1407 |1504 [1606 J1714 1628 |1948 [2076 |2211 [2353 |2502 |2660 |2826 43583 |4768 (6275 |B172
8 1083|1172 (1267 [1369 [1477 |t594 [1798 ]i851 1993 |2144 (2305 |2476 (2658 |2853 |3059 |3278 4300 15960 |8i57 |1103
S 1094|1195 [1305 [1423 1551 [1689 1838 1999 [2472 |2358 (2558 2773 |3004 13252 [3518 [3803 {5160 (7451 |i0B0 |1489
10 |1105 |1219 |i344 1480 |1629 |41791 |1967 |2159 |2367 |2594 |2839 13106 |3395 |3707 4046 (4411 6192 79313 |1379 ;2011
11 11116 1243 11384 91539 |1710 (1898 k2305 |2332 2580 |2853 13152 3479 |3836 {4226 4652 |5117 |7430 11164 |1792 2714
12 11127 §1268 |1426 1601 |1796 2012 [2252 |25i8 [2813 {3138 (3498 |3806 [4335 4818 5350 [5936 [8916 114355 [2330 13664
13 11138 11294 |1459 |t1es5 |1886 |2133 2410 |2720 13065 13452 (3883 4363 |4898 5492 |6153 6886 (1070 |1819 13029 4947
14 |1149 [1319 [1513 4732 |16B0 2261 [2579 2837 (3342 13797 (4310 4887 (5535 |6261 |7076 |7988 [1284 [2274 (3937 [B6T78
15 |1161 1346|1558 |y801 |2078 (2387 2759 |3172 3642 14477 |4785 |5474 15254 7138 8137 |9266 1541 2842 (5119 |9016
16 |1173 |1373 |1605 1873 12183 |2540 2952 |3426 397D J4995 |5311 6130 17067 |B137 |9368 |1075 |1649 |3553 |6G54 |1217
17 1184 1400 1653 [1948 12292 |2693 3159 3700 [4328 |5054 |5895 |6866 |7686 (9276 [1076 (1247 2219 [4441 (8650 [1643
18 |1196 (1428 [1702 |2026 12407 2854 |3380 3996 4717 [5560 [6544 |7690 9024 |1058 1238 1446 [2662 [5551 (1125 (2218
19 [1208 1457 1754 [2107 32527 [3026 |3617 |43%6 |5142 |6116 |72681 |8613 11020 [1266 (1423 }1678 3195 [6939 1462 [2955
20 |1220 (1486 [1806 2191 2653 3207 (3870 |4661 [5604 |67V27 1BCE2 (9646 [1152 (1374 |1637 [1946 [1834 18674 1000 4043
P4 1232 |1516 |1860 |2279 2786 |3400 4141 [5034 |5109 |7400 lBgds |1089 [|1302 |1567 |1882 2257 |4601 |1084 (2471 |5458
22 l1245 J15a5 11916 |2370 [2925 3604 [4430 5437 [6659 |6140 19634 1210 [1471 (1786 2164 {2619 5521 1355 (3212 |7368
23 J1257 |1577 (1674 2465 3072 |3820 (4741 |5871 |7258 8954 14103 ]1355 [1663 |2036 (2489 3038 |6625 [1894 |4175 (9947
24 ]1270 |1608 2033 [2563 3225 4049 5072 |6341 [70it |9850 01224 11518 [4879 §2321 |2862 3524 [7950 (2118 |5428 |1343
25 13282 |1641 12094 2666 [3386 |4292 5427 |6648 8623 11083 34359 1700 (2123 (26846 (3292 (4087 9540 (2647 |7056 [1B13
30 [4348 [1811 |2427 [3243 4322 5743 |7612 |1006 (1327 (1745 (2289 |2096 3912 ;5095 |6621 |89685 |2374 {8078 |2620 [8129
35 [t417 [2000 2814 [3946 |556156 |7686 1068 |1479 2041 {2B1Q) |3857 [5280 7207 49810 1332 1803 |5907 [32465 |9728 ]36449
40 |1489 |2208 3262 4804|7040 11029 |1497 (2172 |314) {4526 |6500 |9305 1328 41889 |2679 3787 |1470 |7523 [36119
45 [1565 [2438 3782 [564% 8985 41376 2100 |3192 4833 7289 |1095 [1640 |2446 |3637 (6388 |7954 |3657 [22958
50 |1E45 (2692 [4384 |T107 |1147 |i1B42 (2946 (45690 |7436 [1174 |1846 2890 (4507 (7002 11084 [1671 [9100 | 70065

* FNIF > 99999
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Table 2

Future-Value Interest Factors for a R1 annuity compounded at k percent for n
Periods

FVIFA, =D (1+k)"”
i=1

Penod 1% 2% 3% 4% 5% 6% % % 9% 10% N% | 12% 13% 14% 15% 16% | 20% | 25% % 35%
1000 |1000 [1000 [1000 [1000 41000 hi000 1000 1000 |1000 1000 [1000 1000 9000 1000 1000 |4000 §1000 |1000 |i000

2 2010 |2020 |2030 |2040 2050 12060 2070 |2080 |2000 |2400 |2410 2120 |2130 (2140 |2150 2160 2200 12250 [2300 {2350
3 3030 |3080 [3004 [3122 [3153 3184 (3215 |3246 |3278 3310 3342 (3374|3407 |3440 [3473 (3506 3640 3813 [3990 4173
4 4060 4122 [4184 [4246 4310 4375 [4440 |4506 [4573 [4641 [4710 [477% 14850 |4921 [4993 |5066 5368 |5766 |61B7 6633
5 5101|5204 |5308 |5416 |5526 5637 5751 |5867 15985 |6i05 |6238 6353 |6480 |6630 |65742 |6B77 17442 18207 [9043 [50954
6 6152 |6308 |5468 |6633 6802 6975 7153 (7336 1vsz3 |76 |i913 (8116 |8323 |8536 |B754 K897 5930 11259 [12756 |14438
I 7214|7434 (7562 |7898 8142 8394 |B654 (8023 (5200 |9487 (9783 (10089 10405 {10730 |11067 Ji1414 |12916 | 15073 [17 583 [20492
8 8286 |B583 8892 |9214 |9540 9897 1026 [1064 4103 hi144 f1486 |1230 |1276 |1323 |1373 1424 1650 1984 [2386 [2866
g $368 |9755 (1036|1058 |1103 1149 1198 [1249 |i302 Mia58 Jid416 |1478 |1542 |1609 |1679 1752 |2080 |2580 ;3201 [3970
10 |i046 [1085 1146 1201 1258 [1318 [1382 1449 [1519 11594 Ji672 |1755 |1B4Z 1934 2030 |2132 2596 |3325 [4262 [5459

11 [1157 1217 1281 1349 14421 (1497 [1578 |1565 [1756 [1B53 |4956 3065 |2181 |2304 12435 [3573 [3215 [4257 |5641 7470

12 |1268 1341 |1419 |1503 {1592 (1687 J1789 |1898 2014 2138 12271 2413 |2565 |2727 {2900 (3085 |3958 |5421 [7433 [1018

13 |1381 l1468 |1562 |1663 (1771 (1888 (2014 2150 |2295 |2457 12621 |2803 |2698 }3209 |3435 |3679 |4850 |6876 (68763 (1385

14 |1495 14597 |1709 1829 {1960 {2102 (2255 |2421 |2602 2797 13009 3239 |3488 |3758 14050 [4367 |5920 |8655 1278 |1680

15 |1610 |4729 [1860 (2002 (2158 2328 12513 2715 2936 3177 13441 |3728 4042 [4284 [4758 |5166 |7204 (1097 [1673 2547

16 |1726 11864 |2016 |2i82 2386 |2567 |2789 3032 3300 |3595 13919 |4275 |4667 5098 |5572 |[6093 |8744 [1381 2185 {3449

17 11843 2001 2176 2370 [25684 |2821 13084 13375 (3697 |[4054 4450 14888 15374 5912 [6508 |7167 [1059 1736 |2850 |4868

18 |1961 |2141 |2341 |25B85 2813 3001 {3400 3745 |4130 |4560 |S04D |5575 |6173 |6839 [v584 [8414 [1281 [2180 3715 |6309

19 |12084 2284 2512 2767 [3054 (3376 3738 M4145 (4602 |5116 5694 [6344 7075 |7897 (8821 (9960 |1547 |2736 |4840 |8527

20 |2202 2430 12687 2978 [3307 (36579 [4100 14576 |5116 [5727 6420 7205 6095 {102 [1024 [1154 [1867 |[3429 6302 |1152

21 12324 [2579 12868 [3197 3577 3999 |4487 |5042 |5676 [B4Q0 |7227 8170 6247 1048 1188 |1348 2250 |4297 |5202 [1556

22 12447 2730 30354 13425 [3851 (4330 |4901 5546 [6287 (7140 8121 19250 J1055 [1204 [1376 [1574 [2710 |5381 |1067 2102

23 12572 |2884 3245 J3I662 |4143 |4700 |5344 |60BS 6953 (7954|9115 1046 1202 1383 |1593 |1836 3262 |6736 |1388 [2839

24 |2697 3042 ]3443 13008 (4450 [5082 |5848 {6676 |7679 [8850 1022 1182 |1368 [1587 (1842 (2140 [3925 |B430 1806 |38

25 [2B24 3203 13646 [4165 14773 [5486 [6325 7311 |B470 {9835 |1144 (1333 1556 [1819 (2128 [2492 [4720 |10S5 2349 |5177

30 |3478 4057 (4758 5608 16644 17906 9446 1133 [1383 1645 1990 |2413 [2932 (3568 (4347 |S5303 1182 3227 18730 23222

35 [4166 |4999 6046 |7365 |9032 1114 |1382 [1723 [21567 [2710 |3416 |4317 |5467 [6936 [8012 1121 [2948 [9857 (32423

40 |4BB9 6040 [7540 9503 1208 (1548 1896 2581 [3379 4426 5818 |7671 [1014 [1342 (1778 12361 |7344 30089 ‘

45 (5648 |7189 9272 |1210 [16597 (2127 |2857 [3865 [5259 [7189 (9866 1358 1874 [250% 13585 |4966 }18281 (91831

50 |8446 |B458 (1128 [1527 2093 2803 4065 |5738 (8151 (1184|1669 2400 (3460 [4995 (7218 [10436 |45497 .

PV IEA = 99995
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Table 3

Present-Value Interest Factors for R1 Discounted at k percent for n Periods

PV[Fknz—n
(I+k)

Penod | 1% 2% 3% 4% 5% 6% % 8% 9% W% | 1% | 12% | 13% | 14% § 15% 4 16% | 0% | 25% | 30% | 35%

1 0990 |0980 0971 0962 |0952 |0943 0935 1GS26 |0917 (0909 0901|0863 |0885 |0877 |QB70 |0B62 0833 |0800 0769 |074%

0980 10961 (0943 [0925 [0%07 |08Y0 (0873 10857 |0842 0826 0t812 0797 (0783 |0760 0756 (0743 0694 |0640 0592 [0 548

0971 10942 (0915 (0889 (0864 |0B40 (0816 10794 |0772 075y (0731 |0712 |0693 |0675 [0B56 |0641 |0OS579 0512 [0455 0406

0961 0924 (o888 {0855 [0823 0792 |0763 0735 |0708 (0683 [0BS9 |0B836 0613 [0592 [0572 [0552 |0482 (0410 [0350 10301

0951 |0906 [0863 {0822 [07B4 |0747 |0713 |0681 |0650 {0624 [0593 |0567 |0543 {0519 {0497 (0476 |0402 0328 [0269 {0223

0942 0888 (0837 {0790 |0746 |0705 [0666 (0630 (0596 |0584 0535 |0S507 0480 |0456 10432 |0410 0335 [0262 |0207 10165

0933|0871 {0813 Jo760 (0711|0665 |0623 10583 |0547 (0513 [0482 [0452 |0425 |0400 |0376 10354 |O27% |0210 [0159 {0122

0923 10853 (D789 0731 |0677 (0627 [D582 [0340 [0502 |D487 0434 [0404 10376 {0351 j0327 |0305 {0233 0158 |0123 |09t

w |® |~ | o & | e

0914 |0837 (0766 [0703 [0645 [0552 |0544 (0500 |0460 {0424 [0391 [0361 [0333 (0308 |0284 (0263 |0194 (0134 (0094 [0067

iC_|0905 0820 (D744 0676 |0B14 0558 (0508 (0463 (0422 |0386 0352 0322 10295 |0270 {0247 0227 (0462 0107 [0073 |0050

14 |0896 (0804 |0O722 0650 j0565 (0527 [0475 [0429 {0388 [035% 0317 [0287 (0261 0237 |05 |01956 [0135 |0086 0055 |0037

2 (0887 (0788 |0701 |0625 10557 [0457 |0444 0387 [0356 03§ [0286 0257 0231 (0208 0187 [0168 {0412 (006% 0043 (0027

13 |0879 [o773 |O681 |0601 0530 o469 (0415 |0368 [0326 (0290 |0256 0229 10204 0482 0963 [0145 (0093 |0Q55 0033 0020

14 |0870 |0758 |0661 |0577 10505 10442 (0388 (0340 10299 [0263 10232 16205 0481 (0160 (0141 0125 |0C78 0044 10025 |004%

1% 0861 [0743 (0642 (0555 10481 |0447 0362 [0315 JO27s 0239 |0209 |C183 (0160 |0140 0123 (0106 |O065 JOOI§ {0020 |OOWT

16 |0853 (0728 0623 (0534 10458 (0394 0330 0292 |0252 [0218 |018B J0163 0141 0323 0107 (0093 {0054 0028 (0015 (0008

§7 [0844 J0714 |0605 (0513 PC436 |0371 0317 [0270 (0231 [0198 |0170 JO146 [0325 |0308 |0063 (0080 (0045 0023 ;0012 |OO06

16 0836 ;0700 (0587 |0494 0416 (0350 (0296 (0250 0212 (0180 0153 |G 130 0411 (0005 (D081 |0069 (0GB 0018 0009 |0ODS

19 |0828 0686 |0570 |0475 |0396 0331 [0277 |0232 0194 (0164 |0138 J0116 |00C98 |0083 |0O/0 |OCE0 (0031 [0014 0007 0003

20 10820 M0B73 |0554 (0456 10377 (0312 0258 0215 |0178 [014% [0124 )JC104 |OCE7 (0073 0061 [00S1 (0026 (0012 10005 (0002

21 (D811 |0660 |0538 |0439 [0359 |0284 |0242 [D199 Jo164 |0135 [0112 JOO093 (0077 |0064 |0053 |0044 JO022 (00GG 10004 0002

22 |0803 'CEB47 0522 [0422 {0342 (0276 |0226 |0184 0150 0123 j010% IC083 |0065 (0056 0046 (0038 |OGM8 |0007 10003 (D001

23 [0795 (0634 (0507 |0406 0326 |0262 0211 (0170 |0138 |0112 |009% J0074 (0060 |0049 |0040 0033 j001565 JOO06 [0002 |0001

24 0788 j0622 (0492 |0390 10310 |0247 0197 (0158 |0126 |[0102 |0082 |0066 (0053 |0043 |0035 0028 {0013 JOO0S (0002|0004

25 0780 10610 [0478 10375 10295 0233 (0184 |0146 J0O116 |0092 [00Q74 J0O58 [0047 [0C36 |O030 0024 JOO%0 j0004 0001 0001

30 [0742 0552 0412 10308 (0231 |0174 [0131_ 0099 J0O7S (0057 |OQ44 )0033 0026 (0020 (0035 0012 jOO04 |0 001

35 |0706 |0500 |0355 (0253 G181 (0130 0094 0068|0049 10936 |0026 0018 |0014 (0010 1O0CE |O006 |O002

40 [0672 {0453 0307 |0208 10142 |00%7 |0067 [0046 |0032 0022 [0015 JOO11 [DCOS |ODOS |00C4 |0C03 {0001 N
45 10639 (0410 (0264 [0171 J0111 (0073 (0048 10031 J0O21 0014 |00D9 JOO0D6 |0004 (0003 0002 |0BC1 {0000 * ‘ .
50 (0608 (0372 (0228 |0141 |CO8T |0054 |0034 (0029 [DO13 |000S (0005 |0OO3 [D0OZ [0OO1 (0OC1 0001 -

* PVIF = 000 when rounded 1o three decimal places
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Table 4
Present-Value Interest Factors for a R1 annuity discounted at k percent for n Periods

- !
V. ,,:E——
PVIFA; L k)

Penod 1% 2% 3% 4% 5% 8% % 8% 9% 10% 11% 12% 13% 14% 15% 16% 20% 25% 3I0% 35%
1 0990 0980 (0971 |0962 [0952 [0943 (0935 |0926 |0917 0909 00901 |0893 |0885 |0877 |os7c jo862 |0833 j0800 [0769 [0 741
2 1970 11942 11913 (18868 1859 1833 [1808 |1783 |1759 |1736 M1713 |1690 11668 1647 11626 (1605 |1528 [1440 [1361 1289
3 2941 |2884 12829 |2775 §2723 2673 |2624 2577 |2531 2487 12444 (2402 |2361 [2322 12283 (2246 [2106 [1952 ]1816 (1696
4 3902 |3808 (3717 |3630 [3546 |3465 [3387 |3312 |3240 |3170 ]3102 |3037 [2574 2914 |2855 (2798 |2589 [2362 (2166 |1997
5 4853 4713 (4580 |4452 [4329 4212 (4100 |3693 [3890 |3791 [3696 |3605 {3517 |3433 [3352 (3274 |2091 [2689 (2436 2220
§ 5795 |560% (5417 [5242 5076 [4617 |4767 [4623 |4486 [4355 44231 [4111 (3938 3889 (3784 |3685 |3326 |2951 [2643 12385
7 6728|6472 (6230 |6002 [5786 |5582 [5389 |5206 |5033 |4868 K4712 |4564 {4423 |a288 4160 J4039_ |3605 {3161 [2802 [2508
3 7852 {7325 17020 |6733 |[6463 |6210 |5971 |5747 5535 5335 15446 (4968 |4799 [4639 |4487 4344 (3837 |3320 |2925 |2598
9 8566 |B162 (7786 [7435 |7108 [6BO2 |6545 |6247 5995 |5759 5537 |5328 )5132 |agas |4772 (4607 |40 3463 [3019 |2665
10 |9471 (8983 18530 (48111 7722 |7360 [7024 |6710 |6418 |6145 15889 |5650 [5426 |5216 5015 (4833 |4192 [3571 3082 [2715
kA 1037 (9787 19253 (47680 |B306 |7887 |7489 |7139 [6805 [6495 16207 |5938 (5687 |5453 5234 |5029 4327 |3656 [3147 |2752
12 [1126 |1058 19954 (9335 |B863 (8354 7943 [7536 7161 16814 16497 [65194 15918 5660 5424 15197 |4439 lzv2s [3180 |27
13 11213 11435 (1083 |90986 |9394 |5863 |8368 [7904 7487 [7103 16750 (65424 [6122 [5842 |5583 5342 [4533 |3780 3223 |2799
14 1300 1211 {1130 [1056 |9899 (9295 [B745 |8244 (7786 |7367 16982 |6628 6302 |6002 |5724 15468 |4611 3824 [3240 |2814
15 |1387 1285 (1154 1112 |1038 |9712 (9108 [8559 8061 |7606 17191 [6811 (6462 [6142 |5847 [5675 [4675 [3859 3268 |2825
16 |1472 1358 (1256 |1165 |1084 1011 9447 [8851 8313 [7824 |7379 (6974 (6604 [6265 [5954 (5668 [4730 |3887 3283 2834
i7 155611429 11317 [1217 1127 [1048 (9763 |9122 (8544 |8022 (7549 |7120 [6729 |6373 |6047 (5749 4775 |3910 [3295 |2840
18 [1640 14499 1375 [1266 1169 [1083 [1006 |9372 8756 [8201 7702 |7250 |6840 {6467 [65128 15818 J4812 [3928 [3304 |2844
19 ]1723 [1568 (1432 ]1313 |3209 |1116 [1034 |9604 |BG50 [8365 (7830 [7366 [6938 |6550 |6198 [5877 [4843 |3942 3311 |2848
20 11805 4635 |4488 11359 |4246 J1147 |1059 983 |94z |8514 |v963 17469 |7025 |B623 |6259 5929 |4870 |3954 3316 jze80
24 1886 J1701 |1542 11403 4282 (1176 |10a4 J1002 |9292 8649 |BOVS 7562 |7102 16687 6312 |5973 |a851 |3963 |3320 |28s2
22 |1966_ J1766 [1594 (1445 |1316 1204 |1106 [1020 |9442 |8772 |B176 7645 |7170 (6743 [6359 |6011 [4900 |3670 {3323 |2853
23 12046 _[1829 |1644 11486 |1349 ]1230 |1127 [1037 |9580 8883 8266 f7718 |7230 6792 [6399 |6044 (4925 |3976 [3325 (2854
24 |2124 1891 |1694 [1525 [1380 J1255 (1147 |1053 |9707 |a9s5 |a348 [778s |v283 |6835 6434|6073 |4937 {3581 3327 (2855

20 12202 [1952_ [1741 |1562 [14089 [1278 [4165 |1067 )9823 {9077 |8422 |7843 7330 [6873 |6464 |60s7 [4948 |3885 [3325 |2858
30 [2581 2240 (1960 [1729 [1537 4376 [1241 |1126 [1027 |9427 |8694 [B055 |7496 [7003 |6566 |6177 |4579 43995 [3332 |2857
35 |2941 [2500 (2449 |1866 [1637 41450 [1295 |1165 |1057 [g9644 [8855 |m8176 ]7586 [7070 6617 [6215 [4992 |3998 |3333 2 857
40 |3283 12736 |2311 [197v9_ [1716 |1505 [1333 |1192 [1076 [9779 |8957 [8244 |7634 [7105 6642 [6233 |4997 |3asg 3333 | 2857
45 3609 (2649 12452 2072 [1777 |41546 [1361 |+42141 |1088 |9883 (9008 8283 f7e61 [7123 6654 5242 [4000 4000 3333 | 2857
S0 |3520 |[3t142 (2873 |2148 (1826 |1576 1380 {13223 [1096 9945 |[9042 B304 |7675 (71433 6661 (65246 [4599 4000 | 3333 | 2857
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STUDIE EENHEID by PSY100-X VOQRLEFTERS EN VAN -——--- N —
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cQ1 c0a oy z0a c2 Qa3 o3 ca 2z cfa cfa cda cdha 2
11 13 cfa el cr i1 ct1c4a t13ct1 13 c11 ¢12 €11 For use by examination Fn\”gllator
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1 ctac2a 3z tda tha 36 ry2rc21c33 43 cha " €11 0c21c33 41 H 106 cl13c21c33c4grcha
2 r{1c?: 3z cdy ) @ 7 £11 23 c33 43 ¢ha 72 t11c21 31 r43 1951 107 ry2c21 33 43 eha
3 t13c21 32 cda 52 38 £11 1233141 53 73 €13 c23 t331 c4> 453 108 1223324153
§ t11c21 3> cd3 h 9 r§1 23131 4o ha 74 t11c21c31 tda K 108 rc11c¢22 ¢33 cd1eh)
5 t13c21¢3) cdd 5 40 t131 c22 c331 rd3 c5a 75 t13 r21 133 t41 52 10 c1ac23 €31 43k
6 13 c}3 131 c41 cha # €13 022 £33 £da che 76 13023 £33 c41 cha 111 1323 t31cdaehs
7 t13c23 ¢33 141 ha 42 t11€23 ¢33 tda ek T £t11 023 ¢31 td1chHa M2 clac21cdac4achy
8 i1 23 £33 td1 51 43 ti1¢21 3 cda ca 78 £41 023 31 ¢4 1§ 13 1323 cdrcdsch
] €13 £33 31 141 51 44 ty31¢21c3) cd1 By 79 112131 £43 152 M4 13622131 cds ch
10 tis €23 c3acda c5y 45 r41c23 c32 r41cha 80 t11 02331 cd2 151 118 tizc23 1033 41/
n c13c22¢31 t41 ¢53 46 41621 c31 4> c5a 81 c13c23c31 c41 ) 1 013 t23 1033 c4) €5
12 r11c21 c3a c4da c53 1] £11¢c21 r31 t41 cHa 82 £13r23c31 cd3 tha 1 11 c21 c33 £43 51
13 t11 02 c31 041 5 4§ t13c21 £33 cda1 Ha B3 r11 12313141 ¢ 11 c23 31 c41 Ha
14 r11 2131 c4a cha 49 t11c21 31 415 B4 rjarac 4 1 €11 ¢21 031 ¢dy 5
15 cJar21rc3ardachs 50 circ2acdr rdy 53 85 rts r21 3 t13 2133041 tH
16 €13 12331143 tH1 51 £1tc21c3: cd1cha t21 1 cha 129 1323 c33cdach:
17 ct3 €231 31 €41 <52 52 12 :2’1:3: r YR £21 £33 cd) £ 122 t13c23 131 cda 2
18 r$2 023 c3: c4d1 cfa 53 t{1 ¢ 3 b t131e21c31 43 52 123 1323 e3) 4y e
19 12023033 cdrcha 54 191 89 t13 23 c33 td1 53 124 t11¢22 131 cda 5
20 r1a1c21c31 41 cha 11021 4R W 1] 41123 €31 ¢4 (52 126 cdlac23 t3r 4z
ral 1323 c31881 £ha r 1631 c43r1ha 1] c{1 123 c31 c41ha 126 €13 1023 £31 cds €53
22 t13c23 ¢y ci1ac21 €32 41 ha 92 t13 2331 td1 ch 127 c13c23 31241 cHa
3 ircacdicsn 58 t13 23 e31 t41 53 93 r11 12331 t41 (52 1286 tirc23cdrcdacka
24 tf3c23cdac 3 ] £12121 £33 141 (5 94 r11c23c31 cdr ek 129 rizcZ2rc3scdacha
il tf2 21 c3acda Ha 60 13 211033 c4a cha 95 £131£23 ¢33 413 130 112333143 1H
26 12 L2133 42 53 81 €13 2331 41 cha 96 £11 t21 31 rd1ch 131 132333 cda chs
27 cfa 03 r3z c4a cha 62 £13 €21 €33 rda cka 97 t11 2133 t43 51 132 t13c23 c31 td1 cha
28 ctarc?ic3acdsch 63 t13 131 ¢33 rda c5a o] 13123 31 c4a tHha 133 13232131 ¢4 5
29 ttr 21 t31 cda ch2 64 t13c20 32 c4a b 99 £13c23 31 tdr B 134 r1ac23 131 cd3
30 £11rc}31 31 €41 5 £5 €12 £21 31 £41 Ha 100 ttz2r23¢3r t41 K 138 c12c23c32 cda cH
3 €12 c23 £32cda 52 66 r13c23 ¢33 41 c52 101 r11c23c31 c43 tha 136 c12c23 0334315
32 t12 c213c3acda c5a 67 r11 623031 41 thy 102 132213 cdr K 137 13112333 c41 b1
B orirrdacdcda 68 132331 4353 103 ty1r1r2213) c43 ek 138 rclac)icldrrdacha
k! tixc22 3243 ha 69 131231311415 104 12211033 ¢35 139 ctac2dac3acdo cha
35 £11rc21 33 cd3 cha 70 £y1c231c31 c41chHa W5 t13c21 33 c4a tHr 140 12 c¢23 131 41 tHa
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MARK READING SHEET INSTRUCTIONS

Your mark reading sheet 1s marked by computer and should therefore be filled in thoroughly and
correctly

USE ONLY AN HB PENCIL TO COMPLETE YOUR MARK READING SHEET
PLEASE DO NOT FOLD OR DAMAGE YOUR MARK READING SHEET

Consult the illustranon of a mark reading sheet on the reverse of this page and follow the mstructions step by
step when working on your sheet

Instruction numbers 0 to @ refer to spaces on your mark reading sheet which you should fill in as

follows

0 Write your paper code 1n these eight squares, for instance

PIS[(Y|1[0]0}-|X

®

The paper nember pertains only to first-level courses consisting of two papers

WRITE | O | 1 { forthe firstpaperand | 0 | 2 | for the second If only one paper, then leave blank

Fill n your initials and sumame
Fill in the date of the examnation

Fill in the name of the exammation centre

000

WRITE the diguts of your student number HORIZONTALLY (from left to night) Begin by filling tn the

first digit of your student number 1n the first square on the left, then fill in the other digits, each one in a
separate square

o

In each vertical column mark the digit that corresponds to the digit in your student number as follows
(-]
WRITE your unique paper number HORIZONTALLY

NB Your unique paper number appears at the top of your examination paper and consists only of digits
{e g 403326)

1o

@ In each vertical column mark the digit that corresponds to the digit number in your unique paper
number as follows {-]

@ Question numbers 1 to 140 indicate corresponding question numbers in your examination paper The

five spaces with digits 1 to 5 next to each question number indicate an alternative answer to each
question The spaces of which the number correspond to the answer you have chosen for each question
and should be marked as follows [-]

’ For official use by the tnvigilator Do not fill in any informatton here



